Parts Breakdown

81MATDS - 81PC AUTO MASTER TAP & DIE SET

L O Rl 81VIATDS

PARTS BREAKDOWN |
= 006000008 ==

[—— e S

L= e
5

< OO —:

7 G — R o — ==
=

QU

Dy v (e

F" {_}@Gﬂ{}ﬁjwj

laden| Par Mo lk-mn’llm e | Pary M. D--mlrhun lsdes | PariMa | Description [lsde)  Par s [ T
| MRS WSS e | 72 | MPAAOF |4 NCAD Tap 13 | WD | 1034 e 1 | eI | MB35 L

3 | MTMET |MaeiGTap | 21 | MIGHT | BMCIZTap 4 | MTEED | 882 04e o | MTSIED | Miw10 e
] ur'l"nl ML i Tap M IIIWI B MNCIT Tap 45 M TEA AT (Ne i MI'ﬂIIJHI Wit 1. 75 Chm

|1 Hld'ﬂl :-Idlil:l.u |I1.I. ?i. | I'|I I"I?\ll :1|1N.|7.V| "'1'\- B ll'. |- H.!ddl'll Iddr"l:lm [ ﬁ.' MI1|1"'I| Hi's‘l".'l)w;

& | WESOUGT (Masthih Tap | 26 | MTUGIT | WOMFS2 Tap | 47 | MU0 | 1500 Die | 665 | MTIORSD | M10G 25 e
8 |MTG0HT |(MGe0BTep | 57 | MTIZMT | 12MCMTop | 48 | AE A0 D | B | MTHOSSD | M6 D

[ bl Tem T Ml S Tap m W AT 1d* NCAD T A5 | | ANE-AT e £l | Ill 18 Mllll & [

B | MTEWT  |Maxl.0Tep | 29 | MTBZET | 14" WF2B Top | 6O TEMD | ANE Che | 71 | MTHZEZED | M1, 26 Che
B | METI0T  [M7al0Tep | B0 | MTGIGIET | 610" MCIB Tep | 61 | WiTsse 'Jn'h.ii'n- 72 | MTAZIED | M1Zal.6 e

0 [ MTmoT (Mo Tap A | MTOUEAT | B0 N Tee | 67 | WTIG0 | 3016 e | 03 | MTIZI760 | 1200 76 D0
1| WTBIPET (Ml % Tap | 2 | MIJMAT | 3 MCiTap | &3 | M :.uu:__ ABC [hm | 14 | MTBEPIN | 1M0SP20 Ok
T | MTE0T |10 Tag | W WM T | 0 | W T6 | MTIGED | Borew Diivess
13 | MTOTT (Ml Tap | 34 | A0 NCT Tap | 66 | MT30ED | |
14 | MTHAOT |MitioTap | & | I -|u'"r'}ri.-'l'||| T5a | MTaaD | T (ERE
T I|d| PN 26T .-MI.‘n.I 36 Tap | B3 ' Mimal :'lrf HCIE Tap |.r': W iAo :u.{u:. 7 e .lia
10| MIVONGT (MVowiG Tap | 37 | MIVZZ0I |V W20 Tap | 08 | MT4COGD | MAAND iNe | 79 | MTITON | (e Holder
AT | WTITIGT [MINri6 Tap | 8 | MTIGFD | ViF WPT7) Do | 60 | MTSGHD | MSan @i | B | Mi3alH | v

18 | WTEZIZRT [MUT) 25 Tap | 30 | MTIATED | 10k 25 e 03 | WiRoeD | Mesnaiee | B | WTIHT | Wi
18 | MR (MITe0G Tap | 80 | MR | 1070 D M| MTE | R G | - I

0| WTVRTET M2l 76 Tap | &1 | MT1ESD | 128" Die 2| MTID | Mel o0 I

71| MTIET] | W 177 Tap| 47 | MTHEZD | 1007 Bim 0| MBI | el ok




Item: 81MATDS
Description: 81PC AUTO MASTER TAP & DIE SET
Notes: MT38TH-JAW (small tap holder 2pc jaws) MT39TH-JAW (large tap holder jaws)

*H1MT39TH-JAW 2PC JAWS F/ MT39TH TAP HOLDER

0 *H1MT38TH-JAW 2PC JAWS F/ MT38TH TAP HOLDER 1

1 H1MT1828T 1/8BSP28 TAP F/40MTDS A
2 H1MT305T M3 X 0.5 TAP A
3 H1MT306T M3 X 0.6 TAP A
4 H1MT407T M4 X 0.7 TAP F/40MTDS A
5 H1MT4075T M4 X 0.75 TAP F/40MTDS A
6 H1MT508T M5 0.8 TAP F/40MTDS A
7 H1MT509T M5 X 0.9 TAP F/40MTDS A
8 H1MT610T M6X1.0 TAP F/40MTDS A
9 H1MT710T M7 X 1.0 TAP F/40MTDS A
10 H1MT810T M8X1.0 TAP A
11 H1MT8125T M8 X 1.25 TAP F/40MTDS A
12 H1MTO10T M9 X 1.0 TAP F/40MTDS A
13 H1MT9125T M9X1.25 TAP F/40MTDS A
14 H1MT1010T M10X1.0 TAP A
15 H1MT10125T M10X1.25 TAP F/40MTDS A
16 H1MT1015T M10X1.5 TAP F/40MTDS A
17 H1IMT1115T M11X1.5 TAP F/40MTDS A
18 H1MT12125T M12X1.25 TAP A
19 H1MT1215T M12X1.5 TAP F/40MTDS A
20 H1MT12175T M12X1.75 TAP F/40MTDS A
21 H1MT1827T 1/8 NPT27 TAP F/40STDS A
22 H1MT440T 4 NC40 TAP F/40STDS A
23 H1MT632T 6 NC32 TAP F/40STDS A
24 H1MT832T 8 NC32 TAP F/40STDS A
25 H1MT1024T 10 NC24 TAP F/40STDS A
26 H1MT1032T 10 NF32 TAP F/40STDS A
27 H1MT1224T 12 NC24 TAP F/40STDS A
28 H1MT1420T 1/4 NC20 TAP F/40STDS A
29 H1MT1428T 1/4 NF28 TAP F/40STDS A
30 H1MT51618T 5/16 NC18 TAP F/40STDS A
31 H1MT51624T 5/16 NF24 TAP F/40STDS A



32
33
34
35
36
37
38
39
40
41
42
43
a4
45
46
47
48
49
50
51
52
53
54
55
56
57
58
59
60
61
62
63
64
65
66
67

H1MT3816T
H1MT3824T
H1MT71614T
H1MT71620T
H1MT1213T
H11220T
H1MT1827D
H1MT1428D
H1MT1420D
H1MT1224D
H1MT1032D
H1MT1024D
H1MT832D
H1MT632D
H1MT440D
H1MT1220D
H1MT1213D
H1MT71620D
H1MT71614D
H1MT3824D
H1MT3816D
H1MT51624D
H1MT51618D
H1MT305D
H1MT306D
H1MT407D
H1MT4075D
H1MT508D
H1MT509D
H1MT610D
H1MT710D
H1MT810D
H1MT8125D
H1MT910D
H1MT9125D
H1MT1010D

3/8 NC16 TAP F/40STDS
3/8 NF24 TAP F/40STDS
7/16 NC14 TAP F/40STDS
7/16 NF20 TAP F/40STDS
1/2 NC13 TAP F/40STDS
1/2 NF20 TAP F/40STDS
1/8 NPT DIE F/40STDS
1/4-28 DIE F/40STDS
1/4-20 DIE F/40STDS
12-24 DIE F/40STDS
10-32 DIE F/40STDS
10-24 DIE F/40STDS
8-32 DIE F/40STDS

6-32 DIE F/40STDS

4-40 DIE F/40STDS
1/2-20 DIE F/40STDS
1/2-13 DIE F/40STDS
7/16-20 DIE F/40STDS
7/16-14 DIE F/40STDS
3/8-24 DIE F/40STDS
3/8-16 DIE F/40STDS
5/16-24 DIE F/40STDS
5/16-18 DIE F/40STDS
M3 X 0.5 DIE F/40MTDS
M3 X 0.6 DIE F/40MTDS
M4 X 0.7 DIE F/40MTDS
M4 X 0.75 DIE F/40MTDS
M5 X 0.8 DIE F/40MTDS
M5 X 0.9 DIE F/40MTDS
M6 X 1.0 DIE F/40MTDS
M7 X 1.0 DIE F/40MTDS
M8X1.0 DIE

M8X1.25 DIE F/40MTDS
M9 X 1.0 DIE F/40MTDS
M9 X 1.25 DIE F/40MTDS
M10X1.0 DIE

> » » » X » » » » » » » » » » » » » » » » » » » » » » » » » » » » » » >»



68
69
70
71
72
73
74
75
76
77
78
79
80
81

H1MT10125D
H1MT1015D
H1MT1115D
*H1MT12125D
H1MT1215D
H1MT12175D
H1MTBSP28
H1MT35SD
H1MT40R
H1MT36STG
H1IMT36MTG
H1MT37DH
H1MT38TH
H1MT39TH

M10X1.25 DIE F/40MTDS
M10X1.5 DIE F/40MTDS
M11X1.5 DIE F/40MTDS
M12X1.25 DIE

M12X1.5 DIE F/40MTDS
M12X1.75 DIE F/40MTDS

1/8 BSP28 DIE F/40MTDS
SCREW DRIVER F/40STDS
RAPID SELECT RATCHET F/40STDS
SAE PITCH GAUGE F/40STDS
METRIC PITCH GAUGE

DIE HOLDER F/40STDS

1/8-1/4 TAP HOLDER F/40STDS
1/4-1/2 TAP HOLDER F/40STDS

>

> » » X r» » »r » » »r



